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560 =ZEMT 0 69
570 EEHT 0 67
580 ¥TEAHET 0 128
590 #;EHT 0 76
600 ZERET 0 642
610 FHT 0 159
620 ¥EET—TH 0 0
630 FEBTZ—TH 0 0
9999 /\ & X5t 1 2745
1010 A HT 0 211
1020 £/ HT 0 341
1030 b [T HT 0 352
1040 &8 FHET 0 550
1050 AT 1 693
1060 F_EHT 0 585
1070 Fy[RHET 0 678
1080 & HHET 0 427
1090 HEHT 1 672
1100 L BEHT 0 608
1110 fRIEET 1 165
1120 {@I1E JTHT 1 79
1130 +5:HT 0 27
1140 FkJRHET 0 12
1150 F/RET—T B 0 205
1160 F/RET—T B 0 245
1170 ;5 7KHET 0 169
1180 EB&ALHET 2 241
1190 #&FAHT 0 189
1200 XFHEI—TH 0 133
1210 XFHEIZTH 0 173
1220 $HET 0 152
1230 #XHET 0 170
1240 ZEHT 0 122
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TIET (KF)a—F ITHET (KF)4 1008k AO&t

1250 fEEET 0 126
1260 B @ 0 41
1270 E&HT 1 115
1280 FRAEHT 0 152
1290 $RHET 0 177
1300 & ZEMT 0 140
1310 RILGHT 1 86
9999 KM XET 8 8036
1510 A& _E BT 0 799
1520 BT HT 0 752
1530 HE#FTHT 0 319
1540 K{g3HT 0 569
9999 HEMNE X &t 0 2439
2010 ZEERHET 0 197
2020 % EFGHT 0 306
2030 E0HT 0 20
2040 :ET—TH 1 212
2050 HMET=TH 0 210
2060 #5FET 0 46
2070 FxEBT—TH 0 259
2080 +RETZTH 0 195
2090 THIKHET 0 1868
2100 hiLHT 0 270
2110 KEMIETET—T B 0 256
2120 HEWNETET—TH 0 302
9999 ZERXET 1 4141
2510 FAZHET 3 2295
2520 sk EE/T 2 1469
2530 =/MEHET 0 381
2540 FHi5HT 0 475
2550 ;HHET 1 267
2560 = &HT 1 1003
2570 K EHT 0 95
9999 MAER X ET 7 5985
3010 X#FHT 3 1085
3020 BT HT 0 1046
3030 _EEFHT 3 860
3040 & _LET 0 145
3050 THES AT 1 2350
3060 S THT 0 511
3070 THESEHRT 1 535
3080 HhHT 0 475
3090 HHEHT 0 454
3100 HHFHHET 1 490
3110 EHeILHT 1 483
9999 /\ FE X &t 10 8434
3510 £/F LHT 0 196
3520 2 JF T 2 398
3530 2R THT 0 1067
3540 Z= B KHET 1 420
3550 A EFHT 0 835
3560 &= FERAT 0 308
3570 & T FaHT 0 827
3580 F|LIFHT 1 523
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TIET (KF)a—F ITHET (KF)4 1008k AO&t

3590 EHT 0 19
9999 S HKXET 4 4593
4010 21| RET 0 347
4020 fESHT 2 96
4030 5HT 1 243
4040 = HEAHT 1 252
4050 7K EHT 0 522
4060 E5Z HAT 0 385
4070 JtJRHET 1 192
4080 =;T;HIET 0 242
4090 S5 ERHT 0 337
4100 I FFOAT 0 148
4110 JtFFET 0 182
9999 &M XET 5 2946
4510 EREE—ZEHT 2 753
4520 EREE —ZEHT 1 201
4530 EREE =Z5HT 0 213
4540 EREEIUZEHET 1 172
4550 EREE R ZHT 0 121
4560 EREE/NFHET 0 103
4570 EREEHZHET 0 160
4580 EREE/\ZFHT 0 105
4590 EREE N ZEHT 0 172
4600 AR+ ZHT 0 225
4610 EREE+—ZHHT 0 260
4620 B+ —FHET 0 400
9999 AREFERXET 4 2885
5010 FAFNH AHEHT 0 245
5020 RZF0BAELET 0 217
5030 RRF0[RI{—HT 0 259
9999 RRFIMXET 0 721
5510 b R HET 1 227
5520 = HhHET 0 663
5530 FA=HT 2 512
5540 wy ZERT 0 276
5550 AT 0 60
9999 EHR Xt 3 1738
6010 FEIHET/MER 0 110
6020 [E]HT H 0 126
6030 FEET & JI] 0 104
6040 Bz FFHET 1 223
6050 JI|EBTER 0 164
6060 JI|EETF 2 130
9999 FEERXET 3 857
6510 HZEAFBHET 0 24
6520 H &= A KIEHET 0 215
6530 HZEAFTHET 1 101
6540 HZEAILUTHT 0 198
6550 B =AM 2 NET 0 97
6560 HZEAIELHET 0 137
6570 HZE AT 0 145
6580 HZEAEKHET 0 94
6590 HZE AHET 1 57
6600 B Z A HHT 0 86



XKH24. 7 FREARBIREZD—IREIZKYNEANEZEDH-AO
[R2.5.31IREITEHET S (KF) Al FE#HHAAD (%)

TIET (KF)a—F ITHET (KF)4 1008k AO&t

6610 HEA LFGHT 1 46
6620 HZEA ST 0 61
6630 HZE AT FEHET 0 95
6640 HE A EitslT 0 37
6650 B Z A SHET 0 2
6660 HZ A RLHET 0 31
9999 HEAKRXE 3 1426
7010 Z &M O ET 2 177
7020 — R A<HT 0 253
7030 = R IRHNET 0 109
7040 — BT KEFHT 0 214
7050 — R 7 H I ET 0 115
9999 — R&XEt 2 868
8011 IRAETFGHERLY 0 66
8012 IRAHTFHERA 0 139
8013 Y AHTFEER (& 0 82
8021 R AHETZFEAKLY 0 88
8022 IRAHETIEKA 0 4
8023 IR AHTIEKIL 0 9
8031 IRAHTH ALY 0 184
8032 IRAHTHAA 0 12
8033 JAHETH AL 0 16
8041 R ARETHELIFLY 0 55
8042 R AETELIFA 0 27
8043 IR AHTELIR L 0 15
8044 YR AHETHELIFIZ 0 30
8045 IR AHTELIR (X 0 49
8050 IR AHT A 0 172
8060 IR AHTFT 1 138
8070 AHTER 0 140
8080 Ik AHT &k 0 59
8090 I AHTH;EE 0 48
8100 JRABIH/{% 0 21
8110 IRAHTJII 5= 0 56
8120 YR ARHETER 1 97
8130 JRAHTH L 0 93
8140 IRABTEFRT 0 134
8150 AR EHFRL 0 82
9999 IRAK X &+ 2 1816
9010 +FTHTAKEH 1 643
9020 FTHTEER 1 408
9030 F THTHEH 1 1292
9040 F THTHERH 2 1481
9999 FT#XEt 5 3824
9110 $ERT T H L 1 592
9120 $RATH L 0 271
9130 RETH B 0 145
9140 SFEET T4 0 449
9150 $BMT L 45 1 537
9160 SEHATEEHRT 1 799
9170 $ERTAH 0 1027
9180 #RHTEE 0 646
9190 sElT:Z 0O 0 239
9200 $EHTFFIF 0 235
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TIET (KF)a—F ITHET (KF)4 1008k AO&t

9210 $RAT = H 0 399
9220 FEETHH 3 651
9230 FRHETE M 1 731
9240 FEETIE R 0 271
9250 SEHETALFrith 0 678
9999 FEXET 7 7670
9310 E[FHET:AR 0 215
9320 E[ZHTIL 1 243
9330 RFZHET/INE 0 158
9340 R [ZHTRY 4 428
9999 H[GHX &t 5 1044
9410 RETT & 1 400
9420 RETHHE 0 221
9430 RETEAK 0 141
9440 RETAEF 0 11
9450 RETHER 0 18
9460 RET{_HE 0 31
9470 RETER 0 7
9480 RHETHER 0 54
9999 RKX:Et 1 883
99999 &t 79 67289



